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38. You accidentally dropped a 3.5 kg glass platter. of 1.8 m/s at an angle of 52° counterclockwise

Before it hit the floor, the motion was entirely from the positive x axis. Piece 2 with a mass
in the vertical direction. When it hit the floor, of 1.2 kg moved off with a velocity of 2.5 m/s
it broke into three pieces and they all moved at an angle of 61° clockwise from the negative
out in the plane of the floor. Imagine a coor- x axis. Find the mass and the velocity of
dinate system on the floor. Piece 1 had a piece 3.
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Example: A 6.0 kg object, A, moving at a velocity of

3.0 m/s east collides with a 6.0 kg object, B, at rest. After the
collision, A moves off in a direction 40.0 to the left of its original
direction. B moves off in a direction 50.0' to the right of A's
original direction. What is the magnitude of the velocity of each
object after the collision? (v4' = 2.3 m/s, vg'= 1.9 m/s)
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